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fzpjk;juk; - 09 Neuk;: 2.30 kzpj;jpahyk;

aho;g;ghzk; ,e;Jf; fy;Y}up

v vy;yh tpdhf;fSf;Fk; tpil jUf.

01. fPNo jug;gl;l vz;Nfhyj;jpd; mLj;JtUk; ,U cWg;Gf;fis vOJf.

  1> 3> 6> 10 > .......... > ...................

02. cUtpy; juTfisf; nfhz;L y ,d; gUkidf; fhz;f.
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03. 2  vd;Dk; jrk vz;iz Jtpj vz;zhfj; jUf.

04. mUNf jug;gl;l cUtpy;   gq;if epwe; jPl;Lf.
 

05. 0.7 I rjtPjkhfj; jUf.

06. 74 × 143 = 10582 vdpd;> 10.582 ̧  1.43 ,d; ngWkhdj;ijf; fhz;f.

07. jPu;f;f. 2x - 1  =  5

08. cUtpYs;s juTfisf; nfhz;L a ,d; ngWkhdj;ijf; fhz;f.

2
09. nrt;tfnkhd;wpd; gug;gsT a  + 8a - 20 MFk;. mjd; mfyk; (a - 2) vdpd;> mjd; ePsj;ij a 

rhu;gpy; jUf.

10. ∆PQR  ,y;  PQ  =  QR ,  QR  =  RP ,
 PQ  =  7.5 cm vdpd;> mk; Kf;Nfhzp

 PQR ,d; Rw;wsitf; fhz;f.
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11. m = 5 , n = 2 vdpd;> 2m - 3n ,d; ngWkhdj;ijf; fhz;f.

2
12. fhuzpg;gLj;Jf. b  - 121

13. njhil A = {vz; 20 102 ,y; cs;s ,yf;fq;fs;} vdpd;>  n(A) ,d; ngWkhdj;ijf; fhz;f.

14. Fwpj;j tpiyAila Nkir xd;iw tpw;gid nra;Ak; NghJ 10 % fopT toq;fg;gl;L &. 4 500 
,w;F tpw;fg;gLfpd;wJ vdpd;> mjd; Fwpj;j tpiy ahJ?

15. ( x + 7 )  ( x - 3) vd;gij milg;G ePf;fpr; RUf;Ff.

16. fPNo jug;gl;l $w;Wf;fs; rupahapd; 'ü" vdTk; gpioahapd; 'û" vdTk; ,Lf.

3
17. 0.5 m  I ℓ ,y; jUf.

18. cUtpYs;s juTfisf; nfhz;L x, y ,d; ngWkhdq;fisf; fhz;f.

19. B ehspy; vj;jid kzpj;jpahyq;fs; cz;L?

20. XY vd;Dk; Neu;Nfhl;Lj; Jz;lj;jpy; P, Q vd;Dk; ,U Gs;spfs; cs;sd. ,q;F XQ = PY, 
 XY = 20 cm , QY = 6 cm vdpd;>  PQ ,d; ePsj;ijf; fhz;f.

2

27  ´ 1.1 < 27
2 2 2
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(20 x 2 = 40 Gs;spfs;)
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v tpUk;gpa 6 tpdhf;fSf;F ckJ tpilj;jhspy; tpil jUf.

01. a) go tpahghup xUtu; xd;W &. 250 tPjk; 400 md;dhrpg; goq;fis thq;fpdhu;. mtw;wpy; 10 % 

gOjile;J tpl;lJ. mtu; gOjile;j goq;fis jtpu;j;J vQ;rpa ey;y goq;fis xd;W  
&. 300 tPjk; tpw;whu;.

 i.  go tpahghup 400 goq;fisAk; thq;fpa tpiy ahJ?

 ii. gOjile;j goq;fspd; vz;zpf;if vt;tsT?

 iii. mtu; ey;y goq;fis tpw;wtpiyiaf; fhz;f.

 iv. ,t; tpw;gidahy; go tpahghup mile;j ,yhg rjtPjk; my;yJ el;l rjtPjj;ijf; fhz;f.

2
 b) (x + 7)  ( x - 4 )  =  x  + bx + c vd;Dk; rkd;ghl;by; b, c vd;gtw;wpd; ngWkhdq;fisf; fhz;f.

               (8+2= 10 Gs;spfs;)

02. a) ePskhd fk;gpr;RUs; xd;wpypUe;J fk;gpj;Jz;Lfs; ntl;b vLf;fg;gl;ld. Kjy; Jz;L 20 cm 

MfTk; mjw;F mLj;j xt;nthU Jz;Lk; Kjy; Jz;bYk; ghu;f;f 4 cm $ba ePskhf 
,Uf;FkhW rpy Jz;Lfs; ntl;lg;gl;ld.

 i.  ,t;thW ntl;ba Kjy; %d;W Jz;Lfspd; ePsq;fisAk; KiwNa vOJf.

 ii. ntl;ba Jz;Lfspd; ePsq;fis VWtupirapy; xOq;FgLj;Jk;NghJ fpilj;j 
vz;Nfhyj;jpd; nghJ cWg;igf; fhz;f. 

 iii. vj;jidahtjhf ntl;lg;gl;l Jz;bd; ePsk; 0.56 m MFk;?

 b) RUf;Ff.

 i.  1011  + 11,uz;L ,uz;L

 ii. 10110  - 1011,uz;L ,uz;L            (6+4= 10 Gs;spfs;)

2
03. a) mbg;gug;gsT 4 000 cm  MfTs;s fdTU tbt ePu;j;jhq;fp xd;wpd; cauk; 0.75 m MFk;. 

,jpy; 0.5 m cauj;jpw;F ePu; cz;L.

 i.  ePu;j;jhq;fpapd; nfhs;ssit ℓ ,y; jUf.
3

 ii.  ePu;j;jhq;fpapy; cs;s ePupd; fdtsit m  ,y; jUf.

 b) ml;ltizapYs;s ntw;wplq;fis epug;Gf.

      fdTU tbthd ePu;j;jhq;fp xd;wpd;      jhq;fpapd; nfhs;ssT
              cs; msTfs;

3
    ePsk; (m)  mfyk; (m)  cauk; (m)            m                ℓ

      3   1   2     .........         .......
      3   2   .....     ........         9 000
      2   1.5   .....      3       .......

               (4+6= 10 Gs;spfs;)
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04. a) Nfhgp jdJ gpuahzj;jpy; B gq;F J}uj;ij Ng&e;jpYk; 3 gq;F J}uj;ij Giftz;bapYk; 
nrd;whd;.

 i.  mtu ; jdJ nkhjj;  gazjj; py ; vdd;  gqF;  J}uji; j Ng&ej; pYk ; Gifapujjj; pYk ; nrdw; hu;?

 ii. gpd; vQ;rpa gq;F J}uj;ij Kr;rf;futz;bapy; nrd;whuhapd;> Kr;rf;futz;bapy; nrd;w 
J}uj;ij KOj;J}uj;jpd; gpd;dkhfj; jUf.

 b) RUf;Ff.

 i.  (1 - 2 ) ̧  2 M     

 ii.   ,d; 1H

 c) 2 km ,d; 7 gq;F vj;jid m?     (4+4+2= 10 Gs;spfs;)

05. a) mNUNf jug;gl;l cUtpy; ABCD vd;Dk; nrt;tfj;jpd;

   ePsk;> mfyk; vd;gd KiwNa 3x + 12, 10 MFk;. 
   ,q;F PQRS xU J}ukhFk;.

 i.  rJuj;jpd; xUgf;f ePsj;ij x rhu;gpy; jUf.
 ii. KO cUtpd; Rw;wsit x rhu;gpy; jUf.
 iii. nrt;tfk; ABCD apd; gug;gsit x rhu;gpy; jUf.
 iv. KO cUtpd; gug;gsit x rhu;gpy; jUf.

 b) fhuzpg;gLj;Jf.

   ax - a - x + 1         (8+2= 10 Gs;spfs;)

06. a) tpahghup xUtu; &. 80 000 ,w;F thq;fpa fl;by; xd;iw 25 % ,yhgk; ngwf;$bathW 
tpiy Fwpj;jhu;.

 i.  fl;bypd; Fwpj;j tpiy ahJ?
 ii. tpw;gidapd; NghJ 10 % fopT toq;Fthuhapd;> mtu; toq;fpa fopT vt;tsT?

 iii. mf; fl;bypd; tpw;gid tpiy ahJ?

 iv. tpahghup mile;j ,yhg rjtPjj;ijf; fhz;f.

 b) jufu; xUtu; &. 250 000 ,w;F tpw;gid nra;J nfhLj;j Nkhl;lhu; irf;fps; xd;wpw;F 
   &. 20 000 I juFf; fl;lzkhf mwptpl;lhu; vdpd;> mtu; mwtpl;l juFf; fl;lzr;  
   rjtPjj;ijf; fhz;f.        (8+2= 10 Gs;spfs;)

07. a) cUtpYs;s juTfisf; nfhz;L

 i.  x + y ,d; ngWkhdj;ijf; fhz;f.

 ii. ,q;F KL , MN vd;gtw;wpw;fpilapyhd njhlu;ig
   fhuzq;fSld; jUf.

 b)      cUtpYs;s juTfisf; nfhz;L 

        a - c = d - b vdf; fhl;Lf.

 c) ehd;F Neu;Nfhl;Lj; Jz;lq;fs; O ,y; re;jpg;gij cU fhl;Lfpd;wJ. 

   ,q;F AOB = COD vdpd;> 
   gpd;tis BOD = gpd;tis AOC vdf; fhl;Lf.
              
              (4+3+3= 10 Gs;spfs;)
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